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1 [7oFECRUZDIEEY (me/L) 0.0214F 0.0002%:%| 0.00025%:%| 0.0002:%:| 0.0002:%:%| 0.0002:%:%
2 |95 RUZDIEEY (mg/L) 0.002 1L T+ 0.00025%:%| 0.0002:#%| 0.00025%:%| 0.00025%:| 0.0002:%:%
3 |=v T LRUZEDIEEY (meg/L) 002 F 0.001%:%| 0001ki%| 0001%m| 0001%k#| 0.001%5%
5 1,2->4/00T48Y (mg/L) 0.00411F 0.0002::%| 0.0002:k7%| 0.00025%k:%| 0.0002:%#%| 0.0002x%:%
8 |;FLTY (mg/L) 04T 0.0005::%| 0.0005s%:%| 0.0005s%:| 0.00055%:%| 0.00055%:%
9 [ZRIEESQ-TFILAFIIL) (me/L) 0.08LLF 0.008s;%| 0.008ki%| 0.008%ki#%| 0008%i%| 0008k
10 |HiIEFHEL (me/L) 06T - -——— - - -
12 | ZER1EESR (me/L) 0.6UF - ----1---1-- -
13 [oyon7Eb=F)IL (mg/L) 0.01LLF* 0.001s#| 0001sk#%| 0001ki%| 0001k 0.001%k%
14 |3@ko85—)L (mg/L) 0.021) T+ 0.0025%3% 0.002| 0.002:k| 0.002:%%| 0.002%%
16 |7%BIEHR (mg/L) 1T 0.4 0.4 0.5 0.3 0.8
17 |AY DL TR LIEE E] (mg/L) 1080 £100LLF 15 16 14 17 17
18 [RUAVRUVZDIEEY (me/L) 0.01F 0.001%%| 0001k 0001%k%m| 0.001%%| 0.001%E
19 R R EE (me/L) 20LF 2.1 42 35 16 1.1
20 [1.1,1-F)ZOATAY (mg/L) 03T 0.0002::%| 0.0002:k%| 0.00025%:%| 0.0002:%#%| 0.0002x%:%
21 | AFIIL-t-TFILT—TJL (mg/L) 0.02L1F 0.00055:#%| 0.00055:#%| 0.00055%:%| 0.00055%#%| 0.00055%%
22 |BHMEGBRTUAUEN) I LEEE] (ng/L) 3T 2.2 2.2 18 20 1.7
23 |[RS3EE [TON] 3UTF 153 153 153 153 153
24 |ZEFZBYW (mg/L) 3011 £200L0F 40 52 57 57 57
25 & E (E) 1T 0.055%3% 0.09| 005k 005%k#| 0.05%%
26 |pH fi& 75%% 7.7 73 73 8.0 8.3
27 |BERM (57 THE%0 i rhe -1.9 ~24 -25 -15 12
28 |EFREME (@/mL 200054 F* 0 6 0 0 0
29 [11-C4oaTFLY (mg/L) 01T 0.0002::%| 0.0002:k%| 0.00025%:%| 0.0002:%%| 0.0002x%:%
30 [ZILE=ZI LRUZDILEY (me/L) 0.1uF 001%@| 001k#| 001km| 001km| 001%x%
31 :jt;jtigggjgég;ﬁ%?:}gU Ll . D.000001 5%D.000001 5% D.000001 i%.000001 3% P.000001 5%
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